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XX6 (plot by DAT)
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XX6 TsN1 (plot by DAT)
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Days After Budding

XX6 TsN2 (plot by DAT)
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XX6 TsN3 (plot by DAT)
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Days After Budding

XX6 TsN4 (plot by DAT)
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Days After Budding

XX6 TsN5 (plot by DAT)
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Days After Budding

XX6 TsN6 (plot by DAT)
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XX6 (plot by adjDAT)

L
¢ A
Le | l——9
oqi m "r||4 04#
A ) SR
I T Lo
- 1 ] 1
S S X A
o _ -
I Tn S (8
| S ‘¢ B /
i S -@
S T A
! * ! o
Lo - ¢ * 1
L g 9 o 4*
I _ i 4 4
1 .* -9 1 .* 1
| 9 le * e -—®
1 | _* n I
! A L@ |
gy e e !
..*.rﬂ - 4..0 _Fl.“
_.046.4.4 ? mm
_|q ‘e ‘e |ﬂ Aebbh °
r.* _|.* _I. _Il. “
_.Q...—.*r._lﬂ “ “_ IIIII .
te to | |
1L
[ --¢
I I
I I
I 1
[
[
[
_II.rIIIII*IIﬂ
I
“OLe_ _____
__4.0" o
I
-0
lllllfrluml
L&
RER
3
..
o o o o o o o o o
¢ 3 § g & & § W
pbuippng Ja1v sAeq

125 150 175 200

Days After Transplant

75 100

50

25



Days After Budding

XX6 TsN1 (plot by adjDAT)
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Days After Budding

XX6 TsN2 (plot by adjDAT)
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XX6 TsN3 (plot by adjDAT)
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Days After Budding

XX6 TsN4 (plot by adjDAT)
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Days After Budding

XX6 TsN5 (plot by adjDAT)
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Days After Budding

XX6 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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